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The followings are the Comparative Financial Statements of NuWell Trading Ltd.

NuWell Trading Ltd
Comparative Income Statement
Years Ended 31 Decmeber 2005 and 2006

2006 2005
$ $
Net Sales 369,600 341,600
Cost of goods sold 183,200 174,400
Gross Profit 186,400 167,200
Operating Expenses 108,800 107,200
Profit from operations 77,600 60,000
Interest Expense 8,800 9,600
Profit before Income Tax 68,800 50,400
Income Tax Expense 24,000 21,600

Net Profit 44,800 28,800





(see next page)
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Comparative Balance Sheet
as at 31 Decmeber 2005 and 2006

2006 2005 2004 *
Current assets : $ $ $
Cash 76,800 77,600
Current receivables net 89,600 92,800 82,400
Inventories 117,600 129,600 165,600
Prepaid expenses 12,800 5,600
Total Current Assets 296,800 305,600
Property, Plant & Equipment, net 171,200 142,400
Total Assets 468,000 448,000 478,400
Total Current Liabilites 164,800 178,400
Long Term Liabilities 95,200 93,600
Total Liabilities 260,000 272,000
Preference shareholders' equity, 6% $100 par 80,000 80,000
Ordinary shareholders' equity 128,000 96,000 72,000
Total Liabilities and shareholders' equity 468,000 448,000

* Selective accounts from 2004

Additional Information :

1. Market price of NuWell's ordinary shares : $42.40 at 31 December 2006 and $26.00
at 31 December 2005.

2. Ordinary shares outstanding : 10,000 during 2006 and 9,000 during 2005

3. All sales on credit.

REQUIRED:

a) Compute the following ratios for 2006 and 2005. Show all workings.
i. Current ratio
ii. Tnventory turnover
iii. Interest Cover ratio
iv. Return on ordinary shareholders' equity
v. Earnings per ordinary share
vi. Price/earning ratio
(24 marks)



[image: image3.jpg]b) Based on the ratios computed, comment on NuWell's financial position and the

attractiveness of its ordinary shares to investors.
(12 marks)

¢) Your friend Mr. Tan, an investor, does not believe in ratio analysis because he thinks

that it is not foolproof. What could be the limitations of ratio analysis ? Explain.
(14 marks)




